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HIE=2[(AUCt, Cmax)= 21

90%+412[717+0[ log 0.801A log 1.25 O|L{Z A



Hlngotets ADWIIGS
= -
AUCo~12hr Cmax Tmax(hr) t172(hr)
(ng-hr/mL) (ng/ml)
E|20+Y
(E|l2Z20|EgAIH) | 327.94219.9 102.3t60.4 | 1.00(0.67~2.50)| 2.45+0.35

(F)chaAeh)

E|lZ2|EZ

(E|l2Z2t0|EgAHE) | 310.1£211.9 | 101.8468.6 | 1.00 (0.67~1.50)

o

((F)sTHHI0| 249

2.47 £0.54

90% AlR|FL7tx l0g0.8264 log0.8436 ) )
:1log0.8~1og1.25) ~ 10g1.0559 | ~ log1.0894

AUCt : FARE 2SS s AU A9 dSs=-Al1t

TEFEHR}, Tmax ; SYAU(ER), n=25)

>

(AUCt, Cmax, t1/2; B2




